POČÍTEJ   BEZ   KROKOVACÍHO   PÁSKU
POČÍTEJ   S   KROKOVACÍM   PÁSKEM

po 23. 3.
  7 + 3 = ____
  9 + 2 = ____
12 – 4 = ____
16 – 5 = ____
10 + 6 = ____
  9 + 8 = ____
  6 + 4 = ____
11 – 5 = ____
17 – 6 = ____
12 – 6 = ____

 



út 24. 3.
  5 + 6 = ____
  7 + 2 = ____
17 – 9 = ____
11 – 8 = ____
13 + 1 = ____
  6 + 6 = ____
 14 - 7 = ____
16 – 8 = ____
  9 + 4 = ____
  3 + 9 = ____



 
 
st 25. 3.
14 – 4 = ____
  6 + 2 = ____
10 – 5 = ____
11 + 6 = ____
16 – 1 = ____
12 + 0 = ____
14 – 8 = ____
10 – 4 = ____
  8 + 4 = ____
  7 + 5 = ____

  



čt 26. 3. 
  8 + 7 = ____
  5 + 8 = ____
17 – 1 = ____
12 - 3 = ____
13 + 2 = ____
  9 + 2 = ____
12 – 9 = ____
  6 + 7 = ____
 16 - 4 = ____
  6 + 5 = ____



  

pá 27. 3.
5 + 7 = ____
10 – 6 = ____
11 – 3 = ____
12 + 1 = ____
 2 + 10 =____
17 – 9 = ____
  9 + 7 = ____
  4 + 8 = ____
16 – 9 = ____
17 – 0 = ____





po 23. 3.
  2 + 3 = ____
  4 + 2 = ____
10 – 4 = ____
  6 – 5 = ____
10 + 0 = ____
  1 + 8 = ____
  5 + 4 = ____
  9 – 5 = ____
  7 – 6 = ____
  8 – 4 = ____





út 24. 3.
  4 + 4 = ____
  6 + 2 = ____
10 – 9 = ____
  9 – 8 = ____
  3 + 1 = ____
  0 + 6 = ____
 10 - 7 = ____
  6 – 3 = ____
  1 + 4 = ____
  3 + 2 = ____





st 25. 3.
  4 – 4 = ____
  5 + 2 = ____
10 – 8 = ____
  1 + 6 = ____
  6 – 1 = ____
  2 + 0 = ____
  9 – 3 = ____
  7 – 4 = ____
  0 + 4 = ____
  3 + 5 = ____





čt 26. 3.
  1 + 7 = ____
  3 + 4 = ____
  7 – 1 = ____
  7 - 3 = ____
  8 + 2 = ____
  5 + 2 = ____
  9 – 9 = ____
  2 + 7 = ____
   6 - 4 = ____
   1 + 5 = ____





pá 27. 3.
  4 + 5 = ____
  8 – 6 = ____
10 – 3 = ____
  2 + 1 = ____
  4 + 6 =____
  7 – 3 = ____
  2 + 7 = ____
  4 + 1 = ____
  6 – 5 = ____
[bookmark: _GoBack]  7 – 0 = ____




